CSC228

October 19, 2004


Exercises 3

1. Consider the following declaration:  stackType  stack;
     
where the items on the stack are integers.

Show what is output by the following segment of code:  Show the contents of the stack before the while loop executes.

x = 4;

y = 6;

stack.Push(7);

stack.Push(x);

stack.Push(x+5);

stack.Pop();

stack.Push(y + x);

stack.Push(y – 2);

cout<<”x = “<<x;

cout<<”y = “<<y;

while (!stack.IsEmpty())

{



y = stack.Top();



stack.Pop();



cout<<”y = “<<y;

}

2. (Dale, Page 26, #9 and #10 modified)

Are the following statements legal in client code?

i) stack.items[0] = stack.items[1];
ii) stack.Push(item1 + 1);
stack.Push(item1 + 1);

3. (Dale, Page 26, #12)
Two stacks of positive integers are needed, one containing elements with values <=1,000, and the other containing values >1,000.  The total number of elements in the two stacks combined cannot be more than 200, but we do not know how many there will be in each one at any given time.

1) Draw a diagram of how this stack might look.

2) Write the class definition for this double stack.

3) Implement Push.

4. (Dale, Page 26, #16)

In each plastic container of Pez candy, the colors are stored in random order.  Your little brother likes only the yellow candies, so he takes out all the candies one by one, eats the yellow ones and keeps the others in order, so that he can return them to the container in the same order has before.  Write an algorithm (using stack operations) to simulate this process.

